



QUOTE PREPARED FOR:

SUBSCRIPTION/DIGITAL C

Mt Diablo Unified School Dist
ACCOUNTING OFFICE
CONCORD, CA 94519-1397
ACCOUNT NUMBER: 160770

Beverly Tom tomb@mdusd.org (925) 682-8000

CONTACT:

SALES REP INFORMA

Beverly Tom tomb@mdusd.org (925) 682-8000 Ross Wilson ross.wilson@mheducation.α 415-254-6075

Section Summary		Value of All Materials	Free Materials
CA READING WONDERS 2017 - GRADE K		\$268,531.48	(\$209,482.90)
CA READING WONDERS 2017 - GRADE 1		\$492,113.66	(\$344,802.80)
CA READING WONDERS 2017 - GRADE 2		\$431,257.89	(\$338,381.40)
CA READING WONDERS 2017 - GRADE 3		\$488,487.57	(\$283,725.17)
CA READING WONDERS 2017 - GRADE 4		\$387,371.31	(\$272,571.82)
CA READING WONDERS 2017 - GRADE 5		\$296,066.14	(\$200,910.88)
CA LECTURA MARAVILLAS 2017 - GRADE K		\$14,594.16	\$0.00
CA LECTURA MARAVILLAS 2017 - GRADE 1		\$11,020.08	\$0.00
CA LECTURA MARAVILLAS 2017 - GRADE 2		\$11,466.84	\$0.00
CA LECTURA MARAVILLAS 2017 - GRADE 3		\$20,489.38	(\$6,193.06)
CA LECTURA MARAVILLAS 2017 - GRADE 4		\$19,422.34	(\$10,135.78)
CA LECTURA MARAVILLAS 2017 - GRADE 5		\$47,223.34	(\$47,223.34)
	PRODUCT TOTAL*	\$2,488,044.19	(\$1,713,427.15)
	ESTIMATED S&H**		
	ESTIMATED TAX**		
	GRAND TOTAL*		

^{*} Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

o			4
Cor	nm	ıen	Its.

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only es actual tax charges will be applied at time of order.



Product Description	ISBN	Qty	Unit Price	Free Materials
CA READING WONDERS 2017 - GRADE K				
ELA STUDENT RESOURCES				
READING WONDERS CALIFORNIA STUDENT 8 YEAR SUBSCRIPTION BUNDLE GRADE K	978-0-07-677688-7	250	\$117.42	\$0.00
READING WONDERS CALIFORNIA CLOSE READING COMPANION 8 YEAR PRINT BUNDLE GRADE K	978-0-07-678725-8	250	\$57.75	\$0.00
READING WONDERS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YEAR PRINT BUNDLE GRADE K	978-0-07-678732-6	250	\$75.48	\$18,870.00
	ELA STUDE	NT RESOUR	RCES Subtotal:	\$18,870.00
ELA TEACHER RESOURCES				
READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE GRADE K	978-0-02-142754-3	13	\$591.96	\$7,695.48
READING WONDERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE K	978-0-02-137549-3	13	\$691.53	\$8,989.89
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE K	978-0-02-119334-9	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE <	978-0-02-119490-2	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE K	978-0-02-119337-0	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE K	978-0-02-119464-3	13	\$974.88	\$12,673.44
READING WONDERS READING WRITING WORKSHOP BIG BOOK PACKAGE GRADE K	978-0-02-139262-9	13	\$501.59	\$6,520.67
READING WONDERS BIG BOOKS PACKAGE GRADE K	978-0-02-119336-3	13	\$1,624.42	\$21,117.46
	-		_	,
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 1 GRADE K	L1.1014715	13	\$1,330.71	\$17,299.23
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 2 GRADE K	L1.1014716	13	\$2,000.47	\$26,006.11
ELD OTUDENT DESCUIDOES	ELA TEACH	ER RESOUR	RCES Subtotal:	\$138,322.60
<u>ELD STUDENT RESOURCES</u> READING WONDERS CALIFORNIA ELD MY LANGUAGE BOOK 8 YEAR PRINT BUNDLE GRADE K	978-0-07-898811-0	40	\$61.35	\$2,454.00
READING WONDERS ENGLISH LEARNERS SE WORKSPACE 8 YEAR SUBSCRIPTION 6 SEAT GRADE K	978-0-02-133408-7	7	\$572.43	\$4,007.01
	ELD STUDE	NT RESOUR	CES Subtotal:	\$6,461.01
ELD TEACHER RESOURCES	222 31002	112301		Ψ0,-101.01

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS ENGLISH LEARNERS CALIFORNIA TEACHER EDITION GRADE K	978-0-02-131451-5	84	\$181.62	\$0.00
READING WONDERS ENGLISH LEARNERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE K	978-0-02-133798-9	97	\$125.85	\$12,207.45
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT PRACTICE BLM GRADE K-1	978-0-02-131423-2	84	\$97.94	\$8,226.96
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT CARDS GRADE K-1	978-0-02-130359-5	84	\$185.89	\$15,614.76
READING WONDERS ENGLISH LEARNERS ASSESSMENT GRADE K	978-0-02-131137-8	84	\$113.09	\$9,499.56
READING WONDERS FOR ENGLISH LEARNERS LANGUAGE TRANSFER HANDBOOK	978-0-02-139110-3	84	\$3.34	\$280.56

ELD TEACHER RESOURCES Subtotal: \$45,829.29

CA READING WONDERS 2017 - GRADE K Subtotal: \$209,482.90

CA READING WONDERS 2017 - GRADE 1				
ELA STUDENT RESOURCES				
READING WONDERS CALIFORNIA STUDENT 8 YEAR SUBSCRIPTION BUNDLE GRADE 1	978-0-07-677689-4	498	\$214.92	\$0.00
READING WONDERS CALIFORNIA CLOSE READING COMPANION 8 YEAR PRINT BUNDLE GRADE 1	978-0-07-678726-5	498	\$57.75	\$0.00
READING WONDERS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YEAR PRINT BUNDLE GRADE 1	978-0-07-678733-3	498	\$74.70	\$37,200.60

ELA STUDENT RESOURCES Subtotal: \$37,200.60 **ELA TEACHER RESOURCES** READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE 978-0-02-142755-0 26 \$591.96 \$15,390.96 GRADE 1 READING WONDERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION 978-0-02-137551-6 26 \$691.53 \$17,979.78 GRADE 1 READING WONDERS LEVELED READER PACKAGE APPROACHING 978-0-02-119561-9 26 \$974.88 \$25,346.88 READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 978-0-02-119577-0 26 \$974.88 \$25,346.88 READING WONDERS LEVELED READER PACKAGE BEYOND GRADE 1 978-0-02-119662-3 \$25,346.88 26 \$974.88 READING WONDERS LEVELED READER PACKAGE ELL GRADE 1 978-0-02-119522-0 \$974.88 \$25,346.88 CORE READING READING WRITING WORKSHOP BIG BOOK 978-0-02-127499-4 26 \$273.59 \$7,113.34 PACKAGE GRADE 1 READING WONDERS LITERATURE BIG BOOKS PACKAGE GRADE 1 978-0-02-119524-4 26 \$870.65 \$22,636.90

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:



Because learning changes e

Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 1	978-0-02-138698-7	26	\$231.51	\$6,019.26
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 1 GRADE 1	L1.1014720	26	\$213.75	\$5,557.50
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 2 GRADE 1	L1.1014721	26	\$2,290.62	\$59,556.12
READING WONDERS CALIFORNIA FWO CLASSROOM RESOURCE REVISED BOX 3 OF 3 GRADE 1	L1.1016191	26	\$709.89	\$18,457.14
	ELA TEACHE	R RESOUR	CES Subtotal:	\$254,098.52
ELD STUDENT RESOURCES				
READING WONDERS CALIFORNIA ELD MY LANGUAGE BOOK 8 YEAR PRINT BUNDLE GRADE 1	978-0-07-898812-7	1	\$61.35	\$61.35
READING WONDERS ENGLISH LEARNERS SE WORKSPACE 8 YEAR SUBSCRIPTION 6 SEAT GRADE 1	978-0-02-133409-4	1	\$572.43	\$572.43
	ELD STUDEN	IT RESOUR	CES Subtotal:	\$633.78
ELD TEACHER RESOURCES				
READING WONDERS ENGLISH LEARNERS CALIFORNIA TEACHER EDITION GRADE 1	978-0-02-130364-9	60	\$192.02	\$0.00
READING WONDERS ENGLISH LEARNERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 1	978-0-02-133799-6	86	\$125.85	\$10,823.10
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT PRACTICE BLM GRADE K-1	978-0-02-131423-2	60	\$97.94	\$5,876.40
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT CARDS GRADE K-1	978-0-02-130359-5	60	\$185.89	\$11,153.40
READING WONDERS ENGLISH LEARNERS ASSESSMENT GRADE 1	978-0-02-130999-3	60	\$113.09	\$6,785.40
READING WONDERS ENGLISH LEARNERS RETELLING CARDS GRADE 1	978-0-02-132772-0	60	\$273.97	\$16,438.20
READING WONDERS ENGLISH LEARNERS VISUAL VOCABULARY CARDS GRADE 1	978-0-02-139903-1	60	\$26.55	\$1,593.00
READING WONDERS FOR ENGLISH LEARNERS LANGUAGE TRANSFER HANDBOOK	978-0-02-139110-3	60	\$3.34	\$200.40
	ELD TEACHE	R RESOUR	CES Subtotal:	\$52,869.90
	READING WONDERS	2017 - GRA	DE 1 Subtotal:	\$344,802.80
CA READING WONDERS 2017 - GRADE 2				
ELA STUDENT RESOURCES				
READING WONDERS CALIFORNIA STUDENT 8 YEAR SUBSCRIPTION BUNDLE GRADE 2	978-0-07-677691-7	491	\$108.57	\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:



Product Description



Free Materials

Unit Price

Qty

FLD STUDENT RESOURCES	ELA TEACHE	R RESOUR	CES Subtotal:	\$164,260.95
	ı		<u> </u>	
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 2 GRADE 2	L1.1014730	21	\$1,878.62	\$39,451.02
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 1 GRADE 2	L1.1014729	21	\$469.17	\$9,852.57
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 2	978-0-02-138699-4	21	\$291.15	\$6,114.15
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 2	978-0-02-118698-3	21	\$974.88	\$20,472.48
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 2	978-0-02-119052-2	21	\$974.88	\$20,472.48
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 2	978-0-02-119051-5	21	\$974.88	\$20,472.48
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 2	978-0-02-118672-3	21	\$974.88	\$20,472.48
READING WONDERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 2	978-0-02-134881-7	21	\$691.53	\$14,522.13
READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE GRADE 2	978-0-02-142758-1	21	\$591.96	\$12,431.16
ELA TEACHER RESOURCES				
	ELA STUDEN	IT RESOUR	CES Subtotal:	\$37,060.68
READING WONDERS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YEAR PRINT BUNDLE GRADE 2	978-0-07-678734-0	491	\$75.48	\$37,060.68
READING WONDERS CALIFORNIA CLOSE READING COMPANION 8 YEAR PRINT BUNDLE GRADE 2	978-0-07-678727-2	491	\$57.75	\$0.00

ISBN

	ELA TEACHER	RESOUR	CES Subtotal:	\$164,260.95
ELD STUDENT RESOURCES				
READING WONDERS CALIFORNIA ELD UNIT 1 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 2	978-0-07-899914-7	290	\$25.44	\$7,377.60
READING WONDERS CALIFORNIA ELD UNIT 2 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 2	978-0-07-899916-1	290	\$25.44	\$7,377.60
READING WONDERS CALIFORNIA ELD UNIT 3 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 2	978-0-07-899919-2	290	\$25.44	\$7,377.60
READING WONDERS CALIFORNIA ELD UNIT 4 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 2	978-0-07-899921-5	290	\$25.44	\$7,377.60
READING WONDERS CALIFORNIA ELD UNIT 5 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 2	978-0-07-899924-6	290	\$25.44	\$7,377.60

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





ISBN	Qty	Unit Price	Free Materials
978-0-07-899926-0	290	\$25.44	\$7,377.60
978-0-02-133412-4	49	\$572.43	\$28,049.07
ELD STUDEN	IT RESOUR	CES Subtotal:	\$72,314.67
978-0-02-131163-7	63	\$177.99	\$0.00
978-0-02-133803-0	84	\$125.85	\$10,571.40
978-0-02-131619-9	63	\$92.29	\$5,814.27
978-0-02-131746-2	63	\$68.50	\$4,315.50
978-0-02-138087-9	63	\$31.10	\$1,959.30
978-0-02-131268-9	63	\$157.39	\$9,915.57
978-0-02-133136-9	63	\$507.28	\$31,958.64
978-0-02-139110-3	63	\$3.34	\$210.42
ELD TEACHE	R RESOUR	CES Subtotal:	\$64,745.10
A READING WONDERS	2017 - GRA	DE 2 Subtotal:	\$338,381.40
978-0-07-677693-1	300	\$108.57	\$0.00
978-0-07-678728-9	300	\$57.75	\$0.00
978-0-07-678735-7	300	\$75.48	\$22,644.00
ELA STUDEN	IT RESOUR	CES Subtotal:	\$22,644.00
_			
978-0-02-142759-8	15	\$591.96	\$8,879.40
978-0-02-142759-8	31	\$591.96	\$0.00
	978-0-02-131163-7 978-0-02-131163-7 978-0-02-131163-7 978-0-02-131619-9 978-0-02-131746-2 978-0-02-131268-9 978-0-02-133136-9 978-0-02-139110-3 ELD TEACHE A READING WONDERS 978-0-07-677693-1 978-0-07-678728-9 978-0-07-678735-7 ELA STUDEN	978-0-02-131163-7 63 978-0-02-131163-7 63 978-0-02-131163-7 63 978-0-02-131803-0 84 978-0-02-131619-9 63 978-0-02-131746-2 63 978-0-02-131268-9 63 978-0-02-133136-9 63 978-0-02-139110-3 63 ELD TEACHER RESOUR A READING WONDERS 2017 - GRA 978-0-07-677693-1 300 978-0-07-678728-9 300 978-0-07-678735-7 300 ELA STUDENT RESOUR	\$\frac{3}{978-0-07-899926-0}\$ \$\frac{290}{978-0-02-133412-4}\$ \$\frac{49}{978-0-02-133412-4}\$ \$\frac{49}{978-0-02-131163-7}\$ \$\frac{63}{978-0-02-131163-7}\$ \$\frac{63}{978-0-02-133803-0}\$ \$\frac{84}{978-0-02-131619-9}\$ \$\frac{63}{978-0-02-131619-9}\$ \$\frac{63}{978-0-02-131746-2}\$ \$\frac{63}{978-0-02-131746-2}\$ \$\frac{63}{978-0-02-131268-9}\$ \$\frac{63}{978-0-02-133136-9}\$ \$\frac{63}{978-0-02-133136-9}\$ \$\frac{63}{978-0-02-139110-3}\$ \$\frac{63}{333.34}\$ \$\frac{8507.28}{978-0-02-139110-3}\$ \$\frac{63}{333.34}\$ \$\frac{8507.28}{978-0-07-677693-1}\$ \$\frac{978-0-07-677693-1}{300}\$ \$\frac{\$57.75}{\$978-0-07-678728-9}\$ \$\frac{978-0-07-678735-7}{300}\$ \$\frac{\$57.75}{\$978-0-07-678735-7}\$ \$\frac{978-0-02-142759-8}{300}\$ \$\frac{\$591.96}{\$591.96}\$

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:



Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 3	978-0-02-134965-4	46	\$691.53	\$31,810.38
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 3	978-0-02-119195-6	15	\$974.88	\$14,623.20
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 3	978-0-02-119195-6	31	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 3	978-0-02-118623-5	15	\$974.88	\$14,623.20
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 3	978-0-02-118623-5	31	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 3	978-0-02-118624-2	15	\$974.88	\$14,623.20
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 3	978-0-02-118624-2	31	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 3	978-0-02-118580-1	15	\$974.88	\$14,623.20
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 3	978-0-02-118580-1	31	\$974.88	\$0.00
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 3	978-0-02-138703-8	15	\$291.15	\$4,367.25
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 3	978-0-02-138703-8	31	\$291.15	\$0.00
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 1 GRADE 3	L1.1014732	46	\$1,697.61	\$78,090.06
	ELA TEACHE	RESOUR	CES Subtotal:	\$181,639.89
ELD STUDENT RESOURCES				
READING WONDERS CALIFORNIA ELD UNIT 1 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 3	978-0-07-899929-1	170	\$22.32	\$3,794.40
READING WONDERS CALIFORNIA ELD UNIT 2 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 3	978-0-07-899932-1	170	\$22.32	\$3,794.40
READING WONDERS CALIFORNIA ELD UNIT 3 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 3	978-0-07-899934-5	170	\$22.32	\$3,794.40
READING WONDERS CALIFORNIA ELD UNIT 4 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 3	978-0-07-899937-6	170	\$22.32	\$3,794.40
READING WONDERS CALIFORNIA ELD UNIT 5 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 3	978-0-07-899939-0	170	\$22.32	\$3,794.40

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS CALIFORNIA ELD UNIT 6 WORKTEXT EMERGE 8 YR PRINT BUNDLE GRADE 3	978-0-07-899942-0	170	\$22.32	\$3,794.40
READING WONDERS ENGLISH LEARNERS SE WORKSPACE 8 YEAR 6 SEAT SUBSCRIPTION GRADE 3	978-0-02-133413-1	29	\$572.43	\$16,600.47
	ELD STUDEN	T RESOUR	CES Subtotal:	\$39,366.87
ELD TEACHER RESOURCES				
READING WONDERS ENGLISH LEARNERS CALIFORNIA TEACHER EDITION GRADE 3	978-0-02-131553-6	37	\$178.51	\$0.00
READING WONDERS ENGLISH LEARNERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 3	978-0-02-133804-7	83	\$125.85	\$10,445.55
READING WONDERS ENGLISH LEARNERS ASSESSMENT GRADE 3	978-0-02-131115-6	37	\$92.29	\$3,414.73
READING WONDERS ENGLISH LEARNERS ORAL LANGUAGE CARDS GRADE 3	978-0-02-130300-7	37	\$10.43	\$385.91
READING WONDERS ENGLISH LEARNERS VISUAL VOCABULARY CARDS GRADE 3	978-0-02-132855-0	37	\$30.05	\$1,111.85
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT PRACTICE BLM GRADE 2-3	978-0-02-131268-9	37	\$157.39	\$5,823.43
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT CARDS GRADE 2-3	978-0-02-133136-9	37	\$507.28	\$18,769.36
READING WONDERS FOR ENGLISH LEARNERS LANGUAGE TRANSFER HANDBOOK	978-0-02-139110-3	37	\$3.34	\$123.58
	ELD TEACHE	R RESOUR	CES Subtotal:	\$40,074.41
CA	READING WONDERS 2	2017 - GRA	DE 3 Subtotal:	\$283,725.17
CA READING WONDERS 2017 - GRADE 4				
ELA STUDENT RESOURCES				
READING WONDERS CALIFORNIA STUDENT 8 YEAR SUBSCRIPTION BUNDLE GRADE 4	978-0-07-677694-8	458	\$108.57	\$0.00
READING WONDERS CALIFORNIA CLOSE READING COMPANION 8 YEAR PRINT BUNDLE GRADE 4	978-0-07-678729-6	458	\$57.75	\$0.00
READING WONDERS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YEAR PRINT BUNDLE GRADE 4	978-0-07-678736-4	458	\$75.48	\$34,569.84
	ELA STUDEN	T RESOUR	CES Subtotal:	\$34,569.84
TEACHER RESOURCES				
READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE GRADE 4	978-0-02-145436-5	19	\$591.96	\$11,247.24
READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE GRADE 4	978-0-02-145436-5	6	\$591.96	\$0.00

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 4	978-0-02-134885-5	25	\$691.53	\$17,288.25
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 4	978-0-02-118747-8	19	\$974.88	\$18,522.72
READING WONDERS LEVELED READER LIBRARY PACKAGE APPROACHING GRADE 4	978-0-02-118747-8	6	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 4	978-0-02-119218-2	19	\$974.88	\$18,522.72
READING WONDERS LEVELED READER LIBRARY PACKAGE ON- LEVEL GRADE 4	978-0-02-119218-2	6	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 4	978-0-02-118600-6	19	\$974.88	\$18,522.72
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 4	978-0-02-118600-6	6	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 4	978-0-02-118601-3	19	\$974.88	\$18,522.72
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 4	978-0-02-118601-3	6	\$974.88	\$0.00
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 4	978-0-02-138742-7	19	\$291.15	\$5,531.85
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 4	978-0-02-138742-7	6	\$291.15	\$0.00
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 1 GRADE 4	L1.1014738	25	\$1,806.65	\$45,166.25

	TEACHER RESOURCES Subtotal:			\$153,324.47
ELD STUDENT RESOURCES				
READING WONDERS CALIFORNIA ELD UNIT 1 WORKTEXT EMERGE 8 YR PRING BUNDLE GRADE 4	978-0-07-899962-8	75	\$20.55	\$1,541.25
READING WONDERS CALIFORNIA ELD UNIT 2 WORKTEXT EMERGE 8 YR PRING BUNDLE GRADE 4	978-0-07-899965-9	75	\$20.55	\$1,541.25
READING WONDERS CALIFORNIA ELD UNIT 3 WORKTEXT EMERGE 8 YR PRING BUNDLE GRADE 4	978-0-07-899968-0	75	\$20.55	\$1,541.25
READING WONDERS CALIFORNIA ELD UNIT 4 WORKTEXT EMERGE 8 YR PRING BUNDLE GRADE 4	978-0-07-899970-3	75	\$20.55	\$1,541.25
READING WONDERS CALIFORNIA ELD UNIT 5 WORKTEXT EMERGE 8 YR PRING BUNDLE GRADE 4	978-0-07-900041-5	75	\$20.55	\$1,541.25

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:



Product Description



Qty

Unit Price Free Materials

1 Toddet Description	IODIA	aty.	Office Filos	1 100 Matorialo
READING WONDERS CALIFORNIA ELD UNIT 6 WORKTEXT EMERGE 8 YR PRING BUNDLE GRADE 4	978-0-07-900044-6	75	\$20.55	\$1,541.25
READING WONDERS ENGLISH LEARNERS SE WORKSPACE 8 YEAR SUBSCRIPTION 6 SEAT GRADE 4	978-0-02-133416-2	32	\$572.43	\$18,317.76
	ELD STUDEN	T RESOUR	CES Subtotal:	\$27,565.26
ELD TEACHER RESOURCES				
READING WONDERS ENGLISH LEARNERS CALIFORNIA TEACHER EDITION GRADE 4	978-0-02-132905-2	55	\$180.53	\$0.00
READING WONDERS ENGLISH LEARNERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 4	978-0-02-134558-8	80	\$125.85	\$10,068.00
READING WONDERS ENGLISH LEARNERS ASSESSMENT GRADE 4	978-0-02-132813-0	55	\$92.29	\$5,075.95
READING WONDERS ENGLISH LEARNERS ORAL LANGUAGE CARDS GRADE 4	978-0-02-130568-1	55	\$68.50	\$3,767.50
READING WONDERS ENGLISH LEARNERS VISUAL VOCABULARY CARDS GRADE 4	978-0-02-131421-8	55	\$26.55	\$1,460.25
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT PRACTICE BLM GRADE 4-6	978-0-02-131511-6	55	\$157.39	\$8,656.45
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT CARDS GRADE 4-6	978-0-02-130679-4	55	\$507.28	\$27,900.40
READING WONDERS FOR ENGLISH LEARNERS LANGUAGE TRANSFER HANDBOOK	978-0-02-139110-3	55	\$3.34	\$183.70
	ELD TEACHE	R RESOUR	CES Subtotal:	\$57,112.25
CA	READING WONDERS 2	2017 - GRA	DE 4 Subtotal:	\$272,571.82
CA READING WONDERS 2017 - GRADE 5				
ELA STUDENT RESOURCES				
READING WONDERS CALIFORNIA STUDENT 8 YEAR SUBSCRIPTION BUNDLE GRADE 5	978-0-07-677696-2	334	\$108.57	\$0.00
READING WONDERS CALIFORNIA CLOSE READING COMPANION 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-678730-2	334	\$57.75	\$0.00
READING WONDERS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-678737-1	334	\$75.48	\$25,210.32
	ELA STUDEN	T RESOUR	CES Subtotal:	\$25,210.32
ELA TEACHER RESOURCES				
READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE GRADE 5	978-0-02-145446-4	13	\$591.96	\$7,695.48
READING WONDERS CALIFORNIA TEACHER EDITION PACKAGE	978-0-02-145446-4	6	\$591.96	\$0.00

ISBN

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:



Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 5	978-0-02-134887-9	19	\$691.53	\$13,139.07
READING WONDERS LEVELED READER PACKAGE APPROACHING GRADE 5	978-0-02-119395-0	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER PACKAGE APPROACHING GRADE 5	978-0-02-119395-0	6	\$974.88	\$0.00
READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 5	978-0-02-119396-7	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER PACKAGE ON-LEVEL GRADE 5	978-0-02-119396-7	6	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 5	978-0-02-119370-7	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER LIBRARY PACKAGE BEYOND GRADE 5	978-0-02-119370-7	6	\$974.88	\$0.00
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 5	978-0-02-119297-7	13	\$974.88	\$12,673.44
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 5	978-0-02-119297-7	6	\$974.88	\$0.00
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 5	978-0-02-138743-4	13	\$291.15	\$3,784.95
READING WONDERS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 5	978-0-02-138743-4	6	\$291.15	\$0.00
READING WONDERS CALIFORNIA FWO TEACHER RESOURCE PACKAGE BOX 1 GRADE 5	L1.1014754	19	\$1,687.66	\$32,065.54
	ELA TEACHE	R RESOUR	CES Subtotal:	\$107,378.80
ELD STUDENT RESOURCES				
READING WONDERS EL CA ELD UNIT 1 WORKTEXT EMERGE 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-900139-9	40	\$21.27	\$850.80
READING WONDERS EL CA ELD UNIT 2 WORKTEXT EMERGE 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-900142-9	40	\$21.27	\$850.80
READING WONDERS EL CA ELD UNIT 3 WORKTEXT EMERGE 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-900144-3	40	\$21.27	\$850.80
READING WONDERS EL CA ELD UNIT 4 WORKTEXT EMERGE 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-900147-4	40	\$21.27	\$850.80
READING WONDERS EL CA ELD UNIT 5 WORKTEXT EMERGE 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-900057-6	40	\$21.27	\$850.80

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
READING WONDERS EL CA ELD UNIT 6 WORKTEXT EMERGE 8 YEAR PRINT BUNDLE GRADE 5	978-0-07-900060-6	40	\$21.27	\$850.80
READING WONDERS ENGLISH LEARNERS SE WORKSPACE 8 YEAR SUBSCRIPTION 6 SEAT GRADE 5	978-0-02-133557-2	7	\$572.43	\$4,007.01

ELD STUDENT RESOURCES Subtotal: \$9,111.81

ELD TEACHER RESOURCES				
READING WONDERS ENGLISH LEARNERS CALIFORNIA TEACHER EDITION GRADE 5	978-0-02-130668-8	60	\$181.81	\$0.00
READING WONDERS ENGLISH LEARNERS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 5	978-0-02-134559-5	79	\$125.85	\$9,942.15
READING WONDERS ENGLISH LEARNERS ASSESSMENT GRADE 5	978-0-02-131731-8	60	\$58.07	\$3,484.20
READING WONDERS ENGLISH LEARNERS ORAL LANGUAGE CARDS GRADE 5	978-0-02-132771-3	60	\$68.50	\$4,110.00
READING WONDERS ENGLISH LEARNERS VISUAL VOCABULARY CARDS GRADE 5	978-0-02-131342-6	60	\$26.55	\$1,593.00
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT PRACTICE BLM GRADE 4-6	978-0-02-131511-6	60	\$157.39	\$9,443.40
READING WONDERS ENGLISH LEARNERS LANGUAGE DEVELOPMENT CARDS GRADE 4-6	978-0-02-130679-4	60	\$507.28	\$30,436.80
READING WONDERS FOR ENGLISH LEARNERS LANGUAGE TRANSFER HANDBOOK	978-0-02-139110-3	60	\$3.34	\$200.40

ELD TEACHER RESOURCES Subtotal:

\$59,209.95

CA READING WONDERS 2017 - GRADE 5 Subtotal:

\$200,910.88

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
CA LECTURA MARAVILLAS 2017 - GRADE K				
STUDENT RESOURCES				
LECTURA MARAVILLAS CALIFORNIA CLOSE READING COMPANION 8 YR PRINT BUNDLE GRADE K	978-0-07-898793-9	98	\$66.78	\$0.00
LECTURA MARAVILLAS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YR PRINT BUNDLE GRADE K	978-0-07-903606-3	98	\$82.14	\$0.00

STUDENT RESOURCES Subtotal: \$0.00

CA LECTURA MARAVILLAS 2017 - GRADE K Subtotal: \$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
CA LECTURA MARAVILLAS 2017 - GRADE 1				
STUDENT RESOURCES				
LECTURA MARAVILLAS CALIFORNIA CLOSE READING COMPANION 8 YR PRINT BUNDLE GRADE 1	978-0-07-898794-6	74	\$66.78	\$0.00
LECTURA MARAVILLAS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YR PRINT BUNDLE GRADE 1	978-0-07-903610-0	74	\$82.14	\$0.00

STUDENT RESOURCES Subtotal:

\$0.00

CA LECTURA MARAVILLAS 2017 - GRADE 1 Subtotal: \$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
CA LECTURA MARAVILLAS 2017 - GRADE 2				
LECTURA MARAVILLAS CALIFORNIA CLOSE READING COMPANION 8 YR PRINT BUNDLE GRADE 2	978-0-07-898798-4	77	\$66.78	\$0.00
LECTURA MARAVILLAS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YR PRINT BUNDLE GRADE 2	978-0-07-903613-1	77	\$82.14	\$0.00

CA LECTURA MARAVILLAS 2017 - GRADE 2 Subtotal:

\$0.00

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
CA LECTURA MARAVILLAS 2017 - GRADE 3				
STUDENT RESOURCES				
LECTURA MARAVILLAS CALIFORNIA CLOSE READING COMPANION 8 YR PRINT BUNDLE GRADE 3	978-0-07-898799-1	96	\$66.78	\$0.00
LECTURA MARAVILLAS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YR PRINT BUNDLE GRADE 3	978-0-07-903614-8	96	\$82.14	\$0.00
	STUDEN	NT RESOUR	CES Subtotal:	\$0.00
TEACHER RESOURCES				
LECTURA MARAVILLAS CALIFORNIA TEACHER EDITION PACKAGE GRADE 3	978-0-02-139080-9	1	\$651.18	\$651.18
LECTURA MARAVILLAS CALIFORNIA TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 3	978-0-02-141786-5	1	\$760.71	\$760.71
LECTURA MARAVILLAS LEVELED READER PACKAGE 6 OF 30 APPROACHING GRADE 3	978-0-02-126159-8	1	\$1,072.36	\$1,072.36
LECTURA MARAVILLAS LEVELED READER PACKAGE 6 OF 30 ON- LEVEL GRADE 3	978-0-02-126160-4	1	\$1,072.36	\$1,072.36
LECTURA MARAVILLAS LEVELED READER PACKAGE 6 OF 30 BEYOND GRADE 3	978-0-02-126161-1	1	\$1,072.36	\$1,072.36
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 3	978-0-02-118580-1	1	\$974.88	\$974.88
LECTURA MARAVILLAS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 3	978-0-02-145317-7	1	\$320.26	\$320.26
LECTURA MARAVILLAS VISUAL VOCABULARY CARDS GRADE 3	978-0-02-126212-0	1	\$79.35	\$79.35
LECTURA MARAVILLAS CALIFORNIA STUDENT WEEKLY ASSESSMENT GRADE 3	978-0-02-131608-3	1	\$63.20	\$63.20
LECTURA MARAVILLAS CALIFORNIA UNIT ASSESSMENT GRADE 3	978-0-02-131535-2	1	\$63.20	\$63.20
LECTURA MARAVILLAS CALIFORNIA QUARTERLY ASSESSMENT GRADE 3	978-0-02-132082-0	1	\$63.20	\$63.20

TEACHER RESOURCES Subtotal:

\$6,193.06

CA LECTURA MARAVILLAS 2017 - GRADE 3 Subtotal:

\$6,193.06

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:



ISBN	Qty	Unit Price	Free Materials
978-0-07-667241-7	48	\$126.69	\$0.00
978-0-07-898803-5	48	\$66.78	\$0.00
978-0-07-903618-6	48	\$82.14	\$3,942.72
STUDE	NT RESOUR	CES Subtotal:	\$3,942.72
978-0-02-142533-4	1	\$651.18	\$651.18
978-0-02-136949-2	1	\$760.71	\$760.71
978-0-02-126185-7	1	\$1,072.36	\$1,072.36
978-0-02-126175-8	1	\$1,072.36	\$1,072.36
978-0-02-126176-5	1	\$1,072.36	\$1,072.36
978-0-02-118601-3	1	\$974.88	\$974.88
978-0-02-145318-4	1	\$320.26	\$320.26
978-0-02-126530-5	1	\$79.35	\$79.35
978-0-02-131300-6	1	\$63.20	\$63.20
978-0-02-132014-1	1	\$63.20	\$63.20
978-0-02-130981-8	1	\$63.20	\$63.20
	978-0-07-667241-7 978-0-07-898803-5 978-0-07-903618-6 STUDEN 978-0-02-142533-4 978-0-02-136949-2 978-0-02-126185-7 978-0-02-126175-8 978-0-02-126176-5 978-0-02-145318-4 978-0-02-145318-4 978-0-02-131300-6 978-0-02-132014-1	978-0-07-667241-7 48 978-0-07-898803-5 48 978-0-07-903618-6 48 STUDENT RESOUR 978-0-02-142533-4 1 978-0-02-136949-2 1 978-0-02-126175-8 1 978-0-02-126176-5 1 978-0-02-118601-3 1 978-0-02-145318-4 1 978-0-02-126530-5 1 978-0-02-131300-6 1 978-0-02-132014-1 1	978-0-07-667241-7 48 \$126.69 978-0-07-898803-5 48 \$66.78 978-0-07-903618-6 48 \$82.14 STUDENT RESOURCES Subtotal: 978-0-02-142533-4 1 \$651.18 978-0-02-136949-2 1 \$760.71 978-0-02-126185-7 1 \$1,072.36 978-0-02-126175-8 1 \$1,072.36 978-0-02-126176-5 1 \$1,072.36 978-0-02-145318-4 1 \$320.26 978-0-02-145318-4 1 \$320.26 978-0-02-131300-6 1 \$63.20

TEACHER RESOURCES Subtotal:

\$6,193.06 \$10,135.78

CA LECTURA MARAVILLAS 2017 - GRADE 4 Subtotal:

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





Product Description	ISBN	Qty	Unit Price	Free Materials
CA LECTURA MARAVILLAS 2017 - GRADE 5				
STUDENT RESOURCES				
LECTURA MARAVILLAS CALIFORNIA CLOSE READING COMPANION & YR PRINT BUNDLE GRADE 5	978-0-07-898804-2	26	\$66.78	\$1,736.28
LECTURA MARAVILLAS CALIFORNIA YOUR TURN PRACTICE BOOK 8 YR PRINT BUNDLE GRADE 5	978-0-07-903619-3	26	\$82.14	\$2,135.64
	STUDE	NT RESOUR	RCES Subtotal:	\$3,871.92
TEACHER RESOURCES				
LECTURA MARAVILLAS CALIFORNIA TEACHER EDITION PACKAGE GRADE 5	978-0-02-142534-1	7	\$651.18	\$4,558.26
LECTURA MARAVILLAS TEACHER WORKSPACE 8 YEAR SUBSCRIPTION GRADE 5	978-0-02-134235-8	7	\$760.71	\$5,324.97
LECTURA MARAVILLAS LEVELED READER PACKAGE 6 OF 30 APPROACHING GRADE 5	978-0-02-126647-0	7	\$1,072.36	\$7,506.52
LECTURA MARAVILLAS LEVELED READER PACKAGE 6 OF 30 ON- LEVEL GRADE 5	978-0-02-126667-8	7	\$1,072.36	\$7,506.52
LECTURA MARAVILLAS LEVELED READER PACKAGE 6 OF 30 BEYOND GRADE 5	978-0-02-126166-6	7	\$1,072.36	\$7,506.52
READING WONDERS LEVELED READER LIBRARY PACKAGE ELL GRADE 5	978-0-02-119297-7	7	\$974.88	\$6,824.16
LECTURA MARAVILLAS TRADE BOOK CLASSROOM LIBRARY PACKAGE GRADE 5	978-0-02-145322-1	7	\$320.26	\$2,241.82
LECTURA MARAVILLAS VISUAL VOCABULARY CARDS GRADE 5	978-0-02-126353-0	7	\$79.35	\$555.45
LECTURA MARAVILLAS CALIFORNIA STUDENT WEEKLY ASSESSMENT GRADE 5	978-0-02-132911-3	7	\$63.20	\$442.40
LECTURA MARAVILLAS CALIFORNIA UNIT ASSESSMENT GRADE 5	978-0-02-131996-1	7	\$63.20	\$442.40
LECTURA MARAVILLAS CALIFORNIA QUARTERLY ASSESSMENT GRADE 5	978-0-02-131460-7	7	\$63.20	\$442.40
· · · · · · · · · · · · · · · · · · ·	TEACHE	D DESOLIE	CES Subtotal	\$43 351 42

TEACHER RESOURCES Subtotal:

\$43,351.42 \$47,223.34

CA LECTURA MARAVILLAS 2017 - GRADE 5 Subtotal:

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

SEND ORDER TO: McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605

Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

QUOTE DATE: 07/31/2017 ACCOUNT NAME: Mt Diablo Unified School Dist EXPIRATION DATE:





QUOTE PREPARED FOR:

Mt Diablo Unified School Dist ACCOUNTING OFFICE CONCORD. CA 94519-1397 ACCOUNT NUMBER: 160770

CONTACT:

Beverly Tom tomb@mdusd.org (925) 682-8000

VALUE OF ALL MATERIALS	
FREE MATERIALS	
PRODUCT TOTAL*	
ESTIMATED SHIPPING & HANDLING**	
ESTIMATED TAX**	
GRAND TOTAL	

SUBSCRIPTION/DIGITAL CONTACT:

Beverly Tom tomb@mdusd.org (925) 682-8000

Comments.		

Terms of Service:

QUOTE DATE:

07/31/2017

By placing an order for digital products (the 'Subscribed Materials'), the entity that this price quote has been prepared for ('Subscriber') agrees to be bound I Subject to Subscriber's payment of the fees set out above, McGraw-Hill School Education, LLC hereby grants to Subscriber a non-exclusive, non-transferat the number of Authorized Users that corresponds to the quantity of Subscribed Materials set forth above to access and use the Subscribed Materials under the Terms of Service. The subscription term for the Subscribed Materials shall be as set forth in the Product Description above. If no subscription term is s shall be one (1) year from the date of this price quote (the 'Initial Subscription Term'), and thereafter the Subscriber shall renew for additional one (1) year to 'Subscription Renewal Term'), provided MHE has chosen to renew the subscription and has sent an invoice for such Subscription Renewal Term to Subscr

ATTENTION: In our effort to protect our customer's data, we will no longer store credit card data in any manner within in our system. Therefore, as of April (

longer accept credit card orders via email, rax, or mail/package delivery. Cre	edit card orders may be placed over the phone by calling the number listed abo
visiting www.mheducation.com (or www.mhecoast2coast.com).	
School Purchase Order Number:	-
10 1 10% 110%	
Name of School Official (Please Print)	Signature of School Official

PLEASE INCLUDE THIS PROPOSAL WITH YOUR PURCHASE ORDER

McGraw-Hill Education | PO Box 182605 | Columbus, OH 43218-2605 SEND ORDER TO: Email: orders_mhe@mheducation.com | Phone: 1-800-780-0246 | Fax: 1-866-513-8081

ACCOUNT NAME: Mt Diablo Unified School Dist

EXPIRATION DATE:

RWILS-07312017-001 QUOTE NUMBER: ACCOUNT #: 160770 PAGE #:

Price firm for 45 days from quote date. Price quote must be attached to school purchase order to receive the quoted price and free materials.

^{**}Shipping and handling charges shown are only estimates. Actual shipping and handling charges will be applied at time of order. Taxes shown are only es actual tax charges will be applied at time of order.

	4.3		TM
verv	vtn:	ına	
	,	5	

ONTACT:

TION:

om

Product Subtotal
\$59,048.58
\$147,310.86
\$92,876.49
\$204,762.40
\$114,799.49
\$95,155.26
\$14,594.16
\$11,020.08
\$11,466.84
\$14,296.32
\$9,286.56
\$0.00
\$774,617.04
\$0.00
\$67,778.97
\$842,396.01

timates. If applicable,

Line Subtotal \$29,355.00 \$14,437.50 *Free Materials

\$43,792.50

*Free Materials
*Free Materials

*Free Materials

*Free Materials

\$0.00

*Free Materials

*Free Materials

\$0.00

Line Subtotal

\$15,256.08

*Free Materials

*Free Materials

*Free Materials

*Free Materials

*Free Materials

\$15,256.08 \$59,048.58

\$107,030.16

\$28,759.50

*Free Materials

\$135,789.66

*Free Materials

Line Subtotal

*Free Materials

*Free Materials

*Free Materials

*Free Materials

\$0.00

*Free Materials

*Free Materials

\$0.00

\$11,521.20

*Free Materials

\$11,521.20

\$147,310.86

\$53,307.87

Line Subtotal

\$28,355.25

*Free Materials

\$81,663.12

*Free	Material	ŀ

*Free Materials

\$0.00

*Free Materials

*Free Materials

*Free Materials

*Free Materials

*Free Materials

Line Subtotal

*Free Materials

*Free Materials

\$0.00

\$11,213.37

*Free Materials

\$11,213.37

\$92,876.49

\$32,571.00

\$17,325.00

*Free Materials

\$49,896.00

*Free Materials

\$18,350.76

Line Subtotal

*Free Materials

*Free Materials

\$30,221.28

*Free Materials

\$30,221.28

*Free Materials

\$30,221.28

*Free Materials

\$30,221.28

*Free Materials

\$9,025.65

*Free Materials

\$148,261.53

*Free Materials

*Free Materials

*Free Materials

*Free Materials

*Free Materials

Line Subtotal

*Free Materials

*Free Materials

\$0.00

\$6,604.87

*Free Materials

\$6,604.87

\$204,762.40

\$49,725.06

\$26,449.50

*Free Materials

\$76,174.56

*Free Materials

\$3,551.76

Line Subtotal

*Free Materials

*Free Materials

\$5,849.28

*Free Materials

\$5,849.28

*Free Materials

\$5,849.28

*Free Materials

\$5,849.28

*Free Materials

\$1,746.90

*Free Materials

\$28,695.78

*Free Materials

*Free Materials

*Free Materials

*Free Materials

*Free Materials

Line Subtotal

*Free Materials

*Free Materials

\$0.00

\$9,929.15

*Free Materials

\$9,929.15

\$114,799.49

\$36,262.38

\$19,288.50

*Free Materials

\$55,550.88

*Free Materials

\$3,551.76

Line Subtotal *Free Materials *Free Materials \$5,849.28 *Free Materials \$5,849.28 *Free Materials \$5,849.28 *Free Materials \$5,849.28

*Free Materials

\$1,746.90

\$28,695.78

*Free Materials

*Free Materials

*Free Materials

*Free Materials

*Free Materials

Line Subtotal

*Free Materials

*Free Materials

\$0.00

\$10,908.60
*Free Materials

\$10,908.60 \$95,155.26

Line Subtotal	
	\$6,544.44
	\$8,049.72

\$14,594.16 \$14,594.16

Line Subtotal	
	\$4,941.72
	\$6,078.36

\$11,020.08 \$11,020.08

verything.™

Line Subtotal	
	\$5,142.06
	\$6,324.78

\$11,466.84

Line Subtotal

\$6,410.88

\$7,885.44

\$14,296.32

*Free Materials

\$0.00

\$14,296.32

Line Subtotal

\$6,081.12

\$3,205.44

*Free Materials

\$9,286.56

*Free Materials

\$0.00

\$9,286.56

Line Subtotal

*Free Materials

*Free Materials

\$0.00

*Free Materials

\$0.00

\$0.00

\$2,488,044.19
(\$1,713,427.15)
\$774,617.04
\$0.00
\$67,778.97
\$842,396.01

timates. If applicable,

by the Terms of Service. Delicense to allow only the terms described in specified, the initial term arms (each a iber.

30, 2016 we will no ve or via our websites by

ıl